
Year 4 – Challenges
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Annie has multiplied a whole number by
10

Her answer is between 440 and 540
What could her original calculation be?

How many possibilities can you find?
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Write the calculation shown by the place
value counters.

ach row has tens and ones.
ach row has a value of
here are rows.

4 4 mm

he calculationis ___x =

lace value counters to calculate:

4 %10 12x10

I Match each statement to the correct bar model.

5 buses have ten
passengers.

8 pots each have
ten pencils.

10 chickens lay 5
- eggs each.
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